



Имя: _____

Дата: _____ Оценка: _____

$$\left(-\frac{1}{3}\right)^{(-2)} - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{3} =$$

$$\left(-\frac{2}{5}\right)^{(-1)} + \frac{3}{5} =$$

$$\left(\frac{3}{5}\right)^{(-1)} - \frac{3}{5} =$$

$$\left(-\frac{1}{5}\right)^{(-1)} + \frac{3}{4} =$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{6}\right)^{(-2)} - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{3}{5}\right)^{(-2)} + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{4}\right)^{(-2)} + \frac{1}{6} =$$

$$\left(\frac{1}{5}\right)^{(-1)} + \frac{1}{6} =$$

$$\left(-\frac{1}{3}\right)^{(-1)} + \frac{3}{5} =$$

$$\left(\frac{3}{5}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{3}{5}\right)^{(-2)} - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{3}{4}\right) - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^0 + \frac{1}{2} =$$

$$\left(\frac{2}{5}\right)^0 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{2}{5}\right)^{(-1)} + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{2}{5}\right)^2 + \frac{3}{5} =$$

$$\left(\frac{3}{4}\right)^{(-2)} - \frac{1}{5} =$$

$$\left(-\frac{3}{5}\right) - \left(-\frac{1}{2}\right) =$$



Имя: _____

Дата: _____ Оценка: _____

$$\left(-\frac{1}{3}\right)^{(-2)} - \left(-\frac{3}{4}\right) = \frac{39}{4} = 9\frac{3}{4}$$

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{3} = \left(-\frac{2}{9}\right)$$

$$\left(-\frac{2}{5}\right)^{(-1)} + \frac{3}{5} = \left(-\frac{19}{10}\right) = \left(-1\frac{9}{10}\right)$$

$$\left(\frac{3}{5}\right)^{(-1)} - \frac{3}{5} = \frac{16}{15} = 1\frac{1}{15}$$

$$\left(-\frac{1}{5}\right)^{(-1)} + \frac{3}{4} = \left(-\frac{17}{4}\right) = \left(-4\frac{1}{4}\right)$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{1}{4}\right) = \left(-\frac{3}{16}\right)$$

$$\left(-\frac{1}{6}\right)^{(-2)} - \left(-\frac{1}{6}\right) = \frac{217}{6} = 36\frac{1}{6}$$

$$\left(\frac{3}{5}\right)^{(-2)} + \left(-\frac{1}{5}\right) = \frac{116}{45} = 2\frac{26}{45}$$

$$\left(\frac{1}{4}\right)^{(-2)} + \frac{1}{6} = \frac{97}{6} = 16\frac{1}{6}$$

$$\left(\frac{1}{5}\right)^{(-1)} + \frac{1}{6} = \frac{31}{6} = 5\frac{1}{6}$$

$$\left(-\frac{1}{3}\right)^{(-1)} + \frac{3}{5} = \left(-\frac{12}{5}\right) = \left(-2\frac{2}{5}\right)$$

$$\left(\frac{3}{5}\right)^2 - \left(-\frac{1}{3}\right) = \frac{52}{75}$$

$$\left(\frac{3}{5}\right)^{(-2)} - \left(-\frac{1}{4}\right) = \frac{109}{36} = 3\frac{1}{36}$$

$$\left(\frac{3}{4}\right) - \left(-\frac{2}{5}\right) = \frac{23}{20} = 1\frac{3}{20}$$

$$\left(-\frac{1}{2}\right)^0 + \frac{1}{2} = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(\frac{2}{5}\right)^0 + \left(-\frac{1}{2}\right) = \frac{1}{2}$$

$$\left(\frac{2}{5}\right)^{(-1)} + \left(-\frac{1}{4}\right) = \frac{9}{4} = 2\frac{1}{4}$$

$$\left(\frac{2}{5}\right)^2 + \frac{3}{5} = \frac{19}{25}$$

$$\left(\frac{3}{4}\right)^{(-2)} - \frac{1}{5} = \frac{71}{45} = 1\frac{26}{45}$$

$$\left(-\frac{3}{5}\right) - \left(-\frac{1}{2}\right) = \left(-\frac{1}{10}\right)$$